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WA — (30 4 ) Solve the given differential equation by using an appropriate substitution.

ay

2 3 3
Xy = —X
4 dx Y

B

A= (30 4 ) Solve the given differential equation by undetermined coefficients.
V'+3y +2y=6.

1 3 5
IRAZ (30 4 ) Givena3x3matrix A={2 4 4. (a) Compute the determinant of A,
I -1 1

(b) Compute the inverse of the matrix A.
XA {30 4 ) Find Fourier transform, (a) 5 {5(x-x,)} and (b) F{™}.

WAL (30 4 ) Use the Laplace transform to solve the following initial value problem
y'+dy'+3y=e. p(0)=0,y'(0)=2.

WAE {20 ) Letvector F=-i+3j+k, G =2j—4k. Find the angle between the vectors
Fand G.

ARt 1 (30 %) (a)Use the path (C,) and (b) Use the path (C,) in Fig.1, to solve the following

. P 2 - 2_ 2, .2
equation: IO ridr with " =x"+y°.
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